Bellwork  Alg 2B Thursday, June 7, 2018
1. Write BOTH a Sine and Cosine equation 2. Write a Tangent equation for this graph.
for this graph. The window shown is 0 to 117«

17_"7)

)
ey (5.1 T
e AL

4

3. You'll spin this spinner once. Find each probability as a fraction without reducing.

Red | Yellow

Green 8 1 Yellow
7 2 a. P(Factor of 60 and Green) b. P(prime number or blue)

Green 6 5|4 3 Blue

Green | Blue

4. The probability that | laugh during the movie is 67 The probability that | cry during the movie is 130

Find the following probability as a percent to the nearest hundredth.
P(laugh or cry during the movie)=

5. Forty percent of the people in a large survey claim that they have seen a ghost. You pick 8 random
people from the survey. Find the following probability as a percent rounded to the nearest hundredth.

P(at least 6 say they've seen a ghost) =

6. You want to make a dessert plate for a party. You have the following to choose from: 8 kinds of cookie,
6 kinds of pie, and 5 kinds of pudding.
a. How many different plates are possible if you put 3 of each on the plate?

b. Another plate can hold only 5 items. How different plates are possible if you fill it with only one kind of
dessert?

7. You need to create an new access code for your credit card. This code must be 7 characters long.
Four of them must be a digit from 0 to 9 and the rest must be a letter. The code is not case-sensitive.
Find the number of possible codes if:

a. Only letters can repeat. b. Nothing can repeat.



8. The coach needs to decide on who will play the following positions on the softball team? Catcher,
Pitcher, and First Base. There are 7 players to choose from. How many ways can the coach fill these
positions?

9. In the box are the following crayons: 8 Green, 9 Blue, and 6 Red. You randomly grab a crayon and
color with it until it becomes too short then your randomly grab another one, etc. Find each probability as a
fraction without reducing.

a) P(Blue and Red and Green) b) P(Green and Green and Green)

10. Use the survey results shown below. Find each probability as a fraction without reducing.

oo
Elfielp.| Gompact | o8IV Ly, Tlote a) P(GM or SUV) b) P(Compact and Ford)
GM | 108 574 92 |63 320
Ford | 123 29 79 | 102 333
Total | 231 86 171|165 653
c) P(Luxury | GM) d) P(Ford | Pick-up)

11. Find the EXACT value of each. Simplify and rationalize when possible.

a) Sec 197 b) Cot(~780°) c) Cse=3% d) Cos(~1470°)

12. Find each to the nearest hundredth.

a) Cot( ‘f_,f”) b) Csc(427°) ¢) Sec L
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